Time (s)
150 200 250

100

50

O

2 Pulses of Best Profile

O

o

i H i ‘,

i

(bl

?n;.' |

i
!'. li'l. .,.,r,.

1 '.“,

M" m"@'&

i L

Hh'im

0.5

-_;_-=-_-=—'—

il

ﬂt

: hIII IHl II

|
II1HII*IIIII:I IIIIIIIIIIII""{IIIII"HIII1 II1HII*Illll:lIIIIIIIIIIII“ “IIIII III1

i

i it

H‘F
mﬁ |
i

iy

!

b

Y

i

1.5

Phose
4bit—p2030.20100701.G54.94401.89.C.b1g0_0001 .fits

\W“

.»:'.f.ﬂ'"*

WJ\

il

Search Information

Reduced x2

Reduced X2

F—dot + 6.8217e—10 (Hz)

Candidate: 3.34Hz_Cand RAjo0e = 19:26:18.2781 DEC,,000 = 20:18:32.1436
Telescope: Arecibo Best Fit Parameters
Epochy,,, = 55378.20280090939  Reduced x> = 2.888 P(N0|se) < 4.74e-20 (~9.10)
Epoch,,, = 55378.20770686286 D|sperS|on Measure (DM; pc/cm®) = 255.548
sample = 05476005 Py, (ms) = 299.0902(25) Poary (ms) = 299.0972(25)
Data Folded = 3909120 topo (s/5) = ~1. 64(75)><1o9 bqry (s/s) = ~1. 64(75)><1o9
Data Avg = 8.359e+04 P"opo (s/s?) = 0.0(1.9)x10~ P bary (s/s?) = 0.0(1.9)x10~
Data StdDev = 469.2 Binary Parameters
Profile Bins = 100 P (s) = N/A e = N/A
Profile Avg = 3.268e+09 a,sin(i)/c (s) = N/A w (rad) = N/A
Profile StdDev = 9.276e+04 Tperi = N/A
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